

I have 2 nickels.
Who has 40 cents?


I have 4 dimes. Who

has 27 cents?


I have a quarter and 2
pennies. Who has 13
cents?


I have a dime and 3

pennies. Who has 32

cents?


I have a quarter, a

nickel, and 2 pennies.

Who has 8 cents?


I have a nickel and 3
pennies. Who has 50
cents?




I have 2 quarters. Who
has 37 cents?



I have 3 dimes, 1 nickel

and 2 pennies. Who has

21 cents?



I have 4 nickels and 1 penny.
Who has 45 cents?


I have a quarter and 2

dimes. Who has 18

cents?



I have 3 nickels and 3

pennies. Who has 5

cents?


I have 1 nickel. Who

has 55 cents




I have 2 quarters and a
nickel. Who has 15
cents?


I have one dime and

one nickel. Who has 4

cents?


I have 4 pennies. Who

has 30 cents


I have 3 dimes. Who

has 16 cents?


I have a dime, a nickel,

and a penny. Who has

25 cents?


I have one quarter.

Who has 42 cents




I have one quarter, one
dime, one nickel, and 2
pennies. Who has 60
cents?


I have 2 quarters and 2

nickels. Who has 10

cents?


